1.3 Representing and Describing Transformations
[bookmark: _GoBack]
Transformation: is a function that changes the ____________, _________________, and/or _________ of a figure
Preimage:
Image: 

[image: ]Triangle ABC: A(0,0)  B(2,3)  C(3,1)

A) ( x , y ) → ( x – 4 , y – 3 )    








[image: ]
B) ( x , y ) → ( -x , y )    






C) [image: ]( x , y ) → ( 2x , y )    








Rigid Motion: ( or ____________) is a transformation that changes the ___________ of a figure without changing the  ___________ or __________ of the figure
[image: ]


Try Your Turn #5 and 6 
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Try Your Turn # 8 and 9 
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+ Rigid motions preserve distance. « Rigid motions preserve collinearity.
+ Rigid motions preserve angle measure + Rigid motions preserve parallelism.

+ Rigid motions preserve betweenness

If a figure is determined by certain points, then its image after a rigid motion is
determined by the images of those points. This i true because of the betweenness and
collinearity properties of rigid motions. Rotations and translations also preserve orientation.
“This means that the order of the vertices of the preimage and image are the same, ither
clockwise or counterclockwise. Reflections do not preserve orientation.

Example1  Use coordinate notation to write the rule that maps each preimage to its
image. Then identify the transformation and confirm
that it preserves length and angle measure.

® preimage Image
AL - a(21)
B42) - B(-2.4)

c3-2) — c23)
Look for a pattern in the coordinates.

‘The x-coordinate of each image point is the opposite of the
y-coordinate of its preimage.

‘The y-coordinate of each image point equals the x-coordinate
of its preimage.
‘The transformation is a rotation of 90° counterclockwise around the origin given by
the rule (x, ) — (-7, %).

Find the length of each side of AABC and AA'B'C'. Use the Distance Formula as needed.
AB=3
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|Bxample2  Use coordinate notation to write the rule that maps each preimage to
its image. Then confirm that the transformation is not a rigid motion.

@ AIKL maps to triangle ATK'L'.

Preimage Image
) - I@3)
K-2-1) — K(-2-3)
10-3) — -9

Look for a pattern in the coordinates.

‘The x-coordinate of each image point equals the x-coordinate of ts preimage.
‘The y-coordinate of each image point is 3 times the y-coordinate of its preimage.
‘The transformation is given by the rule (x, ) — (x, 3).

Compare the length of a segment of the preimage to the length of the
corresponding segment of the image.

K= 2= ) 7K =2 (3
= Jio =V
Since JK # J'K', the transformation is not a rigid motion.





